20224£8827H BEE LGRS
vs BT FER S EE
o 1Q 2Q 3Q 4Q oT TO
EEZR 0 7 8 6 - 2
B e =2 [ 6 0 0 7 - 1

- '??E.F,Fi“n:l:i@

[1Q] PBH#E=FE #2 3yds TD Run
[2Q] EEZEZ#H4 FER—-#3ER 6yds TD Pass
[3Q] FEFEZRD #32 EFEE 3yds TD Run
BETEEME #2 2yds TD Run
[4Q] EFEZ2#94 ER—#3ER 45yds TD Pass
- F—LECER
1st Down BE¥f 9
IES Rt 188
WEEH - FHv—F 38-49
SRS IR 89
B3 Figv—F 23-39
INAEFIERE 84
[E%4 - DO -INT 12-5-0
INA RN 3R 42%
Yy B RGR 2:12
J7 T ILEIE-EL 1-0
FGE%- B Th 0
Turn Over 0
3rd Down FIZhEE 29% (7[E]152[E])
4th Down RRIHER 50% (2[E]=1[=])
& A|E#- SR —F 2-10
s RB—T AT A IN—
OFFENSE
OL 55 =P B 3
oL 75 Z &8 FEAER 2
oL 52 W [mE 3
oL 79 £ EEF 3
oL 78 CEE 2
TE 3 E R IEARER 3
RB 92 AH A& 3
WR 5 B BT 2
WR 18 =K EXEA 3
WR 11 15 = 3
QB 94 iR # 2
P 31 R = 3

#13 Extar Pt. No Good

#39 ZBf% Extra Pt. Good

#12{k & —#3 EfZ 2pt Conversion. Good
#3 Extar Pt. Good

#39 7Bk Extra Pt. No Good

B 76 2 e
14
220
47-47
85
26-3.3
135
19-13-0
68%
2-9
2+1
0
1
44% (9[a] Fr4[=])
0% (1[E]0[a])
2-20
DEFFENSE
DL 77 Heh EF& 3
DL 95 =t A 3
DL 52 WA m@F 3
LB 54 D B 3
LB 5 T A 2
LB 91 HE X 3
LB 49 Ak Kih 3
DB 31 R = 3
DB 17 WTF & 2
DB 29 R BKE 3
DB 10 AT #% 2
K 54 ED B 3




O PN 3
Syl
EREE FiE
A3 A%
A K
12 {55 B
R

EREER

JAUII
#94 R
#12 £k BX

o
Ny S 2N

#3 ERIEKXER
#18 =K EXH

B - —FK-AVE-&xEK-TD
9/42/4.71/15/1
12/48/40/17/0
1/11/11/11/0
1/-1/-1/-1/0
3/-11/-3.1/1/0

[E1%4- BT - v — K- fEZR-INT-TD
9/4/70/44%/0/2
3/1/29/33%/0/0

EZUJ'V_P'AVE-EEEE.TD
4/88/22/45/2
1/11/11/11/0

Solo*Assist






*Miss



